
 

                        
 

 

                                      GSXR 750 96-9 Hugger                                                    
Hugger Fitting Instructions   

 
Fittings: a)   1x Strap bracket for right hand swinging arm (2 piece)  

  b)  4x M6x16 Stainless steel  allen bolts  

              c)   4x Black plastic  washers  

               d)   2x M8x25 Dome head bolts 

 e)   2x M8 Acorn head nuts. 

General Information.   

 

As with all huggers this model is designed to sit close to the tyre and should not be used with an 

oversized tyre. When fitting is complete the Hugger should sit centrally over the tyre when viewed from 

the rear.  The tolerance in the right hand side mounting bracket allows adjustment to achieve this. As with 

all accessories the mountings should be checked for tightness. 

 

********************************************************************* 

The Job is easer with the bike on a paddock stand. 

 

First remove the chain-guard. 

Unbolt the rear break-hose mounting clip on the top right side swinging arm. 

This will allow the strap bracket to pass underneath the hose. 

The strap bracket should be positioned against the front edge of the rear hose clip. 

Mount the rear plate of the strap bracket by loosely attaching the single underside fastener using . 

Offer up the Hugger and attach loosely to the chain side using 2x bolt and washer 

Attach to the right side bracket using 2x bolt and washer 

NOTE. Both fingers of the bracket should be inside the Hugger. 

 

Fully tighten all fasteners checking left/right alignment over the tyre as you do so. 

Re-tighten the rear break hose mounting clip. 

 

NOTE. The front bolts on the rear foot pegs need to be replaced with the M8 acorn nuts provided. 

The bolt should be fed in from the inside-out and the acorn nut therefore on the outside. 

 


